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City Planning Copy the
diagram of Altgeld Park. Show
where park officials should
place a drinking fountain so
that it is equidistant from the
tennis court, the playground,
and the volleyball court.
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Three families, A, B and C who each reside at the vertices A, B, and C, are planning to
meet for a picnic. D, E, F, G, and H represent the towns the families can choose to meet
for their picnic. They agree that all families should drive the same distance. In which
town should they meet? Justify your solution.




